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NUMERICAL SCHEMES FOR CONSERVATION
LAWS VIA HAMILTON-JACOBI EQUATIONS

L. CORRIAS, M. FALCONE, AND R. NATALINI

Table 1. Test 1: maximum L! errors and CPU times.

(a) (H)= Harten scheme, (G)= Godunov scheme, (HJ)=

(b) H-J scheme h = k3/2

H-J scheme with k < h

S13

Time Step | Mesh Size | L' Error CPU
(H) 0.446665 | (H) 0.75

k = 0.066666 | h = 0.300000 | (G) 0.474162 | (G) 0.68
(HJ) 0526606 | (HJ) 0.63
(H) 0226174 | (H) 1.07

k=0033333 | h = 0.150000 | (G) 0.266013 | (G) 0.69
(HJ) 0.313992 | (HJ) 0.58
(H) 0.116579 | (H) 2.38

k= 0.016666 | h =0.075000 | (G) 0.173682 | (G) 0.83
(H3) 0.177846 | (H1) 0.78
(H) 0.056856 | (H) 6.40

£ =0.008333 | h=0.037500 | (G) 0.091962 | (G) 1.22
(H3) 0103086 | (HJ) 1.13

(a)

Time Step | Mesh Size | LT Error | CPU
£=0200 | h=0.089442 | 0.154003 | 00.75
k=0.100 | h=0.031622 | 0.055008 | 01.33
k=0.080 | h=0.022627 | 0.040224 | 01.55
k=0.050 | h=0.011180 | 0.021983 | 04.56
k =0.040 | A=0.008000 | 0.014811 | 05.63
k=0.025 | h=0.003952 | 0.008301 | 29.91
k=0.020 | A=0.002828 | 0.006038 | 57.19

(b)
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